UHF BRACKET
ABOVE GLOVE-BOX

TLR741202

SUITED TO:

TOYOTA LANDCRUISER 70 SERIES RANGE



PRE-INSTALLATION

- Read through this Fitting time Spanner
— | installation guide is approx. {é} Q\'P Socket Set

~ -] before proceeding. 30 minutes. (~\

FITTING KIT
QUANTITY  PART

1 TLR741202 - Mounting Bracket
2 M6 x 12 mm Button Head Bolts
2 M6 x 12 mm Flat Washers
2 M6 Spring Washers
4 M4 x 10 mm Phillips Head Bolts
4 M4 Nyloc Nuts
2 Cable Tie 150 mm

NOTE:

This Mounting Bracket locates the
UHF unit in the cavity above the glove
box area.




FITTING INSTRUCTIONS

Remove the Glove Box, this is done by opening the glove box and
pressing both sides inwards to clear the retainers, once you have
done this you can then lift the glove box up off the bottom hinge.
Mount the UHF Unit to the TLR Products Bracket using the M4
hardware supplied.

NOTE: Orientate the module as per photo, this ensures easy
routing for wiring etc.

Install the UHF/Mounting Bracket assembly to the 2 x OEM
captive nuts using the M6 hardware supplied as per photo.
Complete all wiring for the UHF before re-installing the glove-box
to finish installation.

instagram.com/tlrproducts
facebook.com/tirproducts

hello@tlrproducts.com.au oo TLR Products
[ dE= 65 Northville Drive
\ ] www.tlrpoducts.com.au pel=
o Barnsley NSW 2278




	Slide 1
	Slide 2
	Slide 3

